FHX

. = - SHISE SHI6E
Rl HEMEBS T 7£ #h T 05 mE | ZHE
FHE—1 FHRETELEOTH1163%96 64,000 20.8 | 64,000 0.0
FhE—2 FAEDRI1EZLITHI2E14 90,000 20.0 | 93,000 3.3
FHe—3 FAEMNRS5%2T H325%29 49,000 14.0 | 50,000 2.0
= %%@—4 BIE759T H120%45 69,000 19.0 | 71,000 2.9
FH—5 AIEH2%9T H285%6 100,000 16.3 | 102,000 2.0
FHE—6 BE353 T H528F23(I8FHE-9) 64,000 16.4 | 66,000 3.1
FH—7 HIEG6%16T B734%4 72,500 18.9 | 72,500 0.0
FHE—8 FEtE 156 T H2802269(IBF5E-10) 77,500 19.2 | 79,500 2.6
Hh R 8 8
fRiGEHh o 8 8
EHh/NET 586,000 | 144.6 | 598,000 15.9
EHh T 73,300 18.1 | 74,800 2.0
FFE5—1 FHREABI1£3TH2%S84t 119,000 19.0 | 125,000 5.0
SEJES ) BIAS5&11T H370%& 71 121,000 18.6 | 127,000 5.0
FHE5—3 £IW1E1T B 28494} 75,600 11.2 | 75,600 0.0
Hh = 3 3
et i 3 3
EEINS 315,600 48.8 | 327,600 10.0
EEFEY 105,200 16.3 | 109,200 3.3
S 11 11 11 11
e = 901,600 | 193.4 | 925,600 25.9
LHRTEY 82,000 176 | 84,100 2.4




